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Roll Number

Name of the Candidate

|Examination Name

KVS Junior Secratariat Assistant 04 MAR SH1

|Exam Date & Time

04-03-2023 10:00:00

Question ID:- 1

that follow:

that.

Options:-

=1, Option ID :- 1,
=« 2, Option ID :- 2,
=« 3, Option ID :- 3,
= 4, Option ID :- 4,

Subject : GE_Q01-Q20_JA04MARSH1

Read the passage given below and choose the most appropriate option to answer the question

1.  Sue left her dormitory early that morning. She had even washed her uniform the night
before. She wanted to look nice for the day. She was committed to learning, and she had a
talent for getting good grades. In fact, Sue didn’t sleep much. She composed a paper and
found the perfect thesis about the importance of greenhouse. She also studied for her physics
test. Sue was already tired.

2 During the test, she calculated her answers. Soon, she felt sick. Her face got hot, and her
vision began to blur. She was blind for a moment. The teacher saw Sue’s apparent sickness.
He wanted to send her to the nurse. But she wouldn’t go. Sue still had a portion of the test
to finish.

3, After that, Sue went to the nurse. After seeing the secretary, she waited. A few minutes

later, the nurse came in with a glass of juice and told Sue they needed to chat. “It is obvious
that you have exhausted yourself”, said the nurse. “'If you keep working so hard, it could

have severe results”. “My parents tell me that all the time. T guess I shouldn’t ignore them”,
Sue said. “You have to remind yourself that it is okay to rest”, the nurse said. When Sue got
back to her room, she went right to bed. She made sure she got enough rest every night after

Sue didn’t want to visit the nurse because
(1) she hadn’t had a good night’s sleep
(2) she wanted to look nice for the day
(3) her vision had started blurring

(4)  her Physics test was still incomplete

Answer Given:- 2, Option ID : -2

Question ID:- 2
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Read the passage given below and choose the most appropriate option to answer the question
that follow:

1. Sue left her dormitory early that morning. She had even washed her uniform the mght
before. She wanted to look nice for the da She

Options:-

«1, Option ID :- 5,
« 2, Option ID :- 6,
=« 3, Option ID :- 7,

=« 4, Option ID :- 8,
Answer Given:- 1, Option ID : -5

Question ID:- 3
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Read the passage given below and choose the most appropriate option to answer the question
that follow:

1. Sue left her dormitory early that morning. She had even washed her uniform the night
before. She wanted to look nice for the day. She was committed to learning, and she had a
talent for getting good grades. In fact, Sue didn’t sleep much. She composed a paper and
found the perfect thesis about the importance of greenhouse. She also studied for her physics
test. Sue was already tired.

2 During the test, she calculated her answers. Soon, she felt sick. Her face got hot, and her
vision began to blur. She was blind for a moment. The teacher saw Sue’s apparent sickness.
He wanted to send her to the nurse. But she wouldn’t go. Sue still had a portion of the test
to finish.

3. After that, Sue went to the nurse. After seeing the secretary, she waited. A few minutes

later, the nurse came in with a glass of juice and told Sue they needed to chat. “It is obvious
that you have exhausted yourself”, said the nurse. “’If you keep working so hard, it could
have severe results”. “My parents tell me that all the time. I guess [ shouldn’t ignore them”,
Sue said. “You have to remind yourself that it is okay to rest”, the nurse said. When Sue got
back to her room, she went right to bed. She made sure she got enough rest every night after
that.

What advice did the nurse give Sue ?

(1) to take rest to overcome tiredness

(2) to keep working hard all along

(3) to have a glass of juice and chat with her
(4) toignore her parents” advice ocasssionally

Options:-

=1, Option ID :- 9,

« 2, Option ID :- 10,
« 3, Option ID :- 11,

» 4, Option ID :- 12,
Answer Given:- 2, Option ID : -10

Question ID:- 4
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Read the passage given below and choose the most appropriate option to answer the question
that follow:

1. Sue left her dormitory early that morning. She had even washed her uniform the night
before. She wanted to look nice for the day. She was committed to learning, and she had a
talent for getting good grades. In fact, Sue didn’t sleep much. She composed a paper and
found the perfect thesis about the importance of greenhouse. She also studied for her physics
test. Sue was already tired.

2 During the test, she calculated her answers. Soon, she felt sick. Her face got hot, and her
vision began to blur. She was blind for a moment. The teacher saw Sue’s apparent sickness.
He wanted to send her to the nurse. But she wouldn’t go. Sue still had a portion of the test
to finish.

3. After that, Sue went to the nurse. After seeing the secretary, she waited. A few minutes

later, the nurse came in with a glass of juice and told Sue they needed to chat. “It is obvious
that you have exhausted yourself”, said the nurse. “’If you keep working so hard, it could
have severe results”. “My parents tell me that all the time. I guess [ shouldn’t ignore them”,
Sue said. “You have to remind yourself that it is okay to rest”, the nurse said. When Sue got
back to her room, she went right to bed. She made sure she got enough rest every night after
that.

Which two personality traits best describe the later Sue ?
(1) studying for the Physics test and calculating answers
(2) desire to look nice always and inability to sleep

(3) commitment to learning and respect for parents

(4) composing a paper on greenhouses and getting tired

Options:-

«1, Option ID :- 13,
=« 2, Option ID :- 14,
« 3, Option ID :- 15,

« 4, Option ID :- 16,
Answer Given:- 4, Option ID : -16

Question ID:- 5
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Read the passage given below and choose the most appropriate option to answer the question
that follow:

1. Sue left her dormitory early that morning. She had even washed her uniform the night
before. She wanted to look nice for the day. She was committed to learning, and she had a
talent for getting good grades. In fact, Sue didn’t sleep much. She composed a paper and
found the perfect thesis about the importance of greenhouse. She also studied for her physics
test. Sue was already tired.

2 During the test, she calculated her answers. Soon, she felt sick. Her face got hot, and her
vision began to blur. She was blind for a moment. The teacher saw Sue’s apparent sickness.
He wanted to send her to the nurse. But she wouldn’t go. Sue still had a portion of the test
to finish.

3. After that, Sue went to the nurse. After seeing the secretary, she waited. A few minutes

later, the nurse came in with a glass of juice and told Sue they needed to chat. “It is obvious
that you have exhausted yourself”, said the nurse. “’If you keep working so hard, it could
have severe results”. “My parents tell me that all the time. I guess [ shouldn’t ignore them”,
Sue said. “You have to remind yourself that it is okay to rest”, the nurse said. When Sue got
back to her room, she went right to bed. She made sure she got enough rest every night after
that.

Who all were responsible for Sue’s change for her betterment ?
(1) her parents, but not the nurse

(2) her parents and the nurse

(3) her teacher, but not her parents

(4) her teacher and the nurse

Options:-

«1, Option ID :- 17,
« 2, Option ID :- 18,
« 3, Option ID :- 19,

« 4, Option ID :- 20,
Answer Given:- 3, Option ID : -19

Question ID:- 6

Fill in the blank with the most appropriate phrasal verb :

Yesterday, there was a commotion at the court. This was because the the case was
announced.

(1) decision on

(2) decision at

(3) decision for

(4) decision in
Options:-

«1, Option ID :- 21,
=« 2, Option ID :- 22,
« 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 1, Option ID : -21

Question ID:- 7
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Insert the most suitable articles in the blanks given below :

He is European by birth, but has Indian citizenship.
(1) an, the

(2) a, an

(3) an, an

(4) an,a

Options:-

«1, Option ID :- 25,
»« 2, Option ID :- 26,
« 3, Option ID :- 27,

=« 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8

Select the word which is opposite in meaning to the word in capital letters :

AMALGAMATE

(1) revolve

(2) Dbolster

(3) mitigate

(4) disperse
Options:-

«1, Option ID :- 29,
=« 2, Option ID :- 30,
=« 3, Option ID :- 31,

=« 4, Option ID :- 32,
Answer Given:- 4, Option ID : -32

Question ID:- 9

Select among the four alternatives, the word closest in meaning to the word given in capital letters :
ERUDITE

(1) legendary

(2) learned

(3) settle

(4) honorary
Options:-

«1, Option ID :- 33,
= 2, Option ID :- 34,
« 3, Option ID :- 35,

=« 4, Option ID :- 36,
Answer Given:- 3, Option ID : -35

Question ID:- 10
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In which of the following situations might you get a “bruise” ?

(1) when somebody hits you
(2) when you have to pay the doctor
(3) when you get too close to a fire

)

(4)  when you have a cold

Options:-

«1, Option ID :- 37,
« 2, Option ID :- 38,
« 3, Option ID :- 39,

=« 4, Option ID :- 40,
Answer Given:- 3, Option ID : -39

Question ID:- 11

Choose the correct meaning for the idiom :
“to leave someone in a lurch’.

1)  to leave after having lunch

(

(2) to perch on a branch

( to abandon someone in difficulty
(

)
4)  to leave one’s homeland

Options:-

«1, Option ID :- 41,
« 2, Option ID :- 42,
=« 3, Option ID :- 43,

=« 4, Option ID :- 44,
Answer Given:- 1, Option ID : -41

Question ID:- 12

Complete the sentence with the appropriate pair of words.

Raj is older Ravi, while Rahul is oldest.
(1) than, an

(2) from, the

(3) then, the

(4) than, the

Options:-

«1, Option ID :- 45,
= 2, Option ID :- 46,
=« 3, Option ID :- 47,

=« 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13
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Complete the sentence using the most appropriate form of the verb.
If you hard, you would not have failed the exam.

(1) have work

(2) had worked

(3) had work
(4)

& have worked

Options:-

«1, Option ID :- 49,
« 2, Option ID :- 50,
« 3, Option ID :- 51,

=« 4, Option ID :- 52,
Answer Given:- 2, Option ID : -50

Question ID:- 14

Choose the correct adverb that completes the sentence correctly.
If there is a risk of heart disease, smoking should be stopped and diet has to be controlled
(1) equivocally

(2) rarely

(3) firmly

(4) logically
Options:-

«1, Option ID :- 53,
« 2, Option ID :- 54,
=« 3, Option ID :- 55,

« 4, Option ID :- 56,
Answer Given:- 2, Option ID : -54

Question ID:- 15

The comparitive degree of the adjective “thin’ is
(1) thinner

(2) more thin
(3) thinnest
(4) most thin

Options:-

=1, Option ID :- 57,
« 2, Option ID :- 58,
« 3, Option ID :- 59,

=« 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

https://kvsexam04march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22042230... 8/60
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north.

(1) adjective, conjunction
(2) noun, adverb

(3) adjective, adverb
(4

noun, conjunction

Options:-

«1, Option ID :- 61,
=« 2, Option ID :- 62,
« 3, Option ID :- 63,

=« 4, Option ID :- 64,
Answer Given:- 3, Option ID : -63

Response Sheet

The underlined words in this sentence are which parts of speech ?

The part of the earth which is to our left when we look in this direction where the sun rises is the

Question ID:- 17

There are two errors in this sentence. Identify them.

More of the fun and excitement / in your life comes from

«1, Option ID :- 65,
=« 2, Option ID :- 66,
« 3, Option ID :- 67,

« 4, Option ID :- 68,
Answer Given:- 1, Option ID : -65

a
use of your sense(s /)’which open up a world S?ﬂ'ghts and sounds.
(<) (d)

(1) (b) and (¢)

(2) (a)and (o)

(3) (a) and (d)

(4) (c) and (d)

Options:-

Question ID:- 18

Complete the sentence with the appropriate option.

A opponent is difficult to defeat.
(1) polite

(2) formidable

(3) brilliant

(4) timorous

Options:-

«1, Option ID :- 69,
=« 2, Option ID :- 70,
=« 3, Option ID :- 71,

« 4, Option ID :- 72,
Answer Given:- 1, Option ID : -69

https://kvsexam04march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22042230... 9/60



https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/17/23, 2:11 PM Response Sheet

Question ID:- 19

Choose the correctly spelled word.
(1) mysterous
(2) mysteryious
(3) mystreious
(4) mysterious
Options:-
«1, Option ID :- 73,
=« 2, Option ID :- 74,
« 3, Option ID :- 75,

=« 4, Option ID :- 76,
Answer Given:- 3, Option ID : -75

Question ID:- 20

Fill the blank in the following sentence with the most appropriate option from those given below.

My friend asked my brother and to dinner.
(1) me

(2) mine

(3) our

(4) my
Options:-

«1, Option ID :- 77,
« 2, Option ID :- 78,
« 3, Option ID :- 79,

= 4, Option ID :- 80,
Answer Given:- 1, Option ID : -77

Subject : GH_Q21-Q40 _JA04MARSH1

Question ID:- 21

et foU 77T TR T gt e St fased &t =a wite

TS 379 FH1 1 Was Hal ¢ iR qreadet - fawemst <1 % fau gum w9 3§ fier § )| fawamst &
o == ge | af T off TemEw TE ¥, e e ' iR Sifre sy sYd R W % fon ae
firera & | T € IS § 199 S E 2 R T 2R H i el T 2

TR % STTAR WS B i s1far wd 8 -
(1) HFHedl

(2) TEdHAdl

(3) =i

(4) AfefwR
Options:-

=1, Option ID :- 81,
= 2, Option ID :- 82,

https://kvsexam04march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204223... 10/60
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« 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 2, Option ID : -82

Question ID:- 22

el fau 77T TTEhYT SRl dget e St fased &1 =T it

TS S99 FH! 1 WA Fdl ¢ iR At - fawreamst i % fau gum ' 9§ fier €)1 fawamst &
L e e e 1 e T B 2 i B A o B | o B s G s e B O e
AT ¥ | T € T § 21 TS e SN Hs 2 H i o e ¥

T e fawherdl a1 o Ty fser &, #ifs

(1) =@ =% o afafda w5 @

(2) % gEU i Heg § e HAT®
(3) % U T H1 TEAT Al ¢
(4) I T A S S S HE R
Options:-

«1, Option ID :- 85,
« 2, Option ID :- 86,
=« 3, Option ID :- 87,

« 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23

et fgU 77T TN Rl ggeR e St faehed &t g hitad

TS 794 I 1 G5 Fal & L e - [awerei aFi o forg gam &9 9 frier § 1 fawerarsdi
ferg e g & R o oy T & Wi e g S afE-a S e T S o T
Sfvera & | T € ASAT & AT 6 d e 3 TSt g H i ool e T

T % AT HE-H & 91 STEvTF © 7

(1) =, <ifae 9y
(2) EEGH, qE Y
(3) TfaE 9y, Thed
(4) Hherdl, fome
Options:-

«1, Option ID :- 89,
=« 2, Option ID :- 90,
« 3, Option ID :- 91,

=« 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90

Question ID:- 24
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ot e Tu TEriYT Y Ut Wer Sfer faeRe T wER Hif
T ST AT ol S el 8 S Aherdiet - fakerdst <l & forg g &9 9 fereier 8 1 fawadst &
oI arer g # afrer o oy wE B, e s 2 o afre-ay sEve R W % fag Hee

Options:-
«1, Option ID :- 93,

« 2, Option ID :- 94,
« 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 1, Option ID : -93

Question ID:- 25

et fau w7 eyt S uget vad staa fawew @1 = wifa

TS 3T FHT B WIG3 Hell & SR Aherdied - faherst g % faw s Y ¥ frier #)1 fawamsdt &
for e de § af off oy T % HE W 2R ik TfIE-aY s w9 @ % e T
1T B 1 T € HSe § 1Ufd 96 E e SR I e H i o e 8

for wieg ® SRt R W S §2

(1) efaera
(2) HEHed
(3) A
(4) SIgHa
Options:-

«1, Option ID :- 97,
« 2, Option ID :- 98,
« 3, Option ID :- 99,

« 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Question ID:- 26

‘o A H O e ceRifer w1 e § -
(1) SEU =1 AT HEHH 1 o1

(2) TE % foig T &l Hew™ HE o

(

3) Tordl W SeRA A ST WAl
(4) Tl =1 HEHE TGS R ST HE

https://kvsexam04march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204223... 12/60
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Options:-

«1, Option ID :- 101,
= 2, Option ID :- 102,
« 3, Option ID :- 103,

« 4, Option ID :- 104,
Answer Given:- 3, Option ID : -103

Response Sheet

Question ID:- 27

‘ST FwEA o fau gEE © -
(1) He@rer

(2) HEH AR ZqHA
(3) He FEm
(4) Taram

Options:-

=1, Option ID :- 105,
« 2, Option ID :- 106,

« 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28

TEH Ve 1 IR ¢ -
(1) e

(2) =M™

(3) fm

(4) B
Options:-

«1, Option ID :- 109,
« 2, Option ID :- 110,
« 3, Option ID :- 111,

=« 4, Option ID :- 112,
Answer Given:- 2, Option ID : -110

Question ID:- 29

TEHE 5% T ITEAT € -
(1)  grem
(2) i
(3) ¥
(4) i
Options:-

«1, Option ID :- 113,

https://kvsexam04march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204223... 13/60
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« 2, Option ID :- 114,
« 3, Option ID :- 115,

« 4, Option ID :- 116,
Answer Given:- 3, Option ID : -115

Question ID:- 30

Trefefed | o1gs o= € -
(1) &&= a9 31 ™I

(2) 8 W@ S

(3) o = I AI9H W ST
(4) &8 = H AL = faa)
Options:-

«1, Option ID :- 117,
= 2, Option ID :- 118,
« 3, Option ID :- 119,

« 4, Option ID :- 120,
Answer Given:- 3, Option ID : -119

Question ID:- 31

‘TR AT -
(1) feum

(2) “EE

(3) =

(4) S
Options:-

«1, Option ID :- 121,
« 2, Option ID :- 122,
« 3, Option ID :- 123,

=« 4, Option ID :- 124,
Answer Given:- 4, Option ID : -124

Question ID:- 32

‘Tare gu fare § -
(1) < ¥ e

(2) oTEEH <E

(3) < 1 A

(4) <9 H e
Options:-

«1, Option ID :- 125,
« 2, Option ID :- 126,

« 3, Option ID :- 127,
https://kvsexam04march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204223... 14/60
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« 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128

Question ID:- 33

‘T o g ® -

(1) THHA
(2) WHATAF
(3) THAE
(4) TJ94
Options:-

«1, Option ID :- 129,
« 2, Option ID :- 130,
« 3, Option ID :- 131,

= 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34

sit=e § g femm’ § IAFR Bl

Options:-

«1, Option ID :- 133,
« 2, Option ID :- 134,
« 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

‘vl o wf-fode ® -

(1) fii+=
(2) Tl +3=
(3 ffi+z=
4) f1+d=

Options:-

«1, Option ID :- 137,
« 2, Option ID :- 138,
« 3, Option ID :- 139,

https://kvsexam04march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204223... 15/60
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« 4, Option ID :- 140,
Answer Given:- 3, Option ID : -139

Question ID:- 36

Frefafed % § 9eqq-agye 1 96 T © -
(1) =% - Fo1

2 W|W-H
(3) Hy - Hfy
(4) TPE - =Y
Options:-

«1, Option ID :- 141,
= 2, Option ID :- 142,
« 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 1, Option ID : -141

Question ID:- 37

‘i =1 wiifei ' -
(1) oo
(2) fon
(3) o
(4)
Options:-

«1, Option ID :- 145,
« 2, Option ID :- 146,
« 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 2, Option ID : -146

Question ID:- 38

Options:-

«1, Option ID :- 149,
= 2, Option ID :- 150,
« 3, Option ID :- 151,

« 4, Option ID :- 152,
Answer Given:- 4, Option ID : -152
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Question ID:- 39

oo’ =1 di-fo=se & -

(1) fa=n + evem
(2) Temr + amE™

(3) famn + e
(4) fe=mm+ o1

Options:-

=1, Option ID :- 153,
« 2, Option ID :- 154,
« 3, Option ID :- 155,

« 4, Option ID :- 156,
Answer Given:- 1, Option ID : -153

Question ID:- 40

*srferd o % o SImE S WH TR U v ¥ e § -

(1) &AwE

(2) YmrR

(3) S

(4) TAogE=A
Options:-

«1, Option ID :- 157,
= 2, Option ID :- 158,
=« 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 4, Option ID : -160

Subject : GK_Q41-Q60_JA04MARSH1

Question ID:- 41

Which of the following is not correct with regard to the Criminal Procedure (Identification)
Act, 2022 ?
(1) A Magistrate can direct any person to give measurements for the purpose of investigation.

(2) A police officer cannot take measurements of any person detained under the Preventive
Detention law.

(3) Refusal to allow taking of measurements under this Act shall be deemed as an offence.
(4) This Act repeals the Identification of Prisoners Act, 1920.
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stfer gfsran (Ueam) sufEm-2022 % grery § frefafed § 9 @ g 728 22

(1) Bfvee (Sefsd) R o =afa 31 9= F st 9 99 39 % 9 2wk 71

(2) gferm st Bfsge % orew & fom frames fie wrm & dgd feawma 8 fam o faret off =afa
Y &1 o Hehell § |

(3) W AFTEH & T80 79 o Il SFHG o7 § THR H STIUE HE ST |

(4) = sAfufrem ‘Sfedl = veam sfufEe-1920" % f w2

Options:-

«1, Option ID :- 161,
« 2, Option ID :- 162,
=« 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 4, Option ID : -164

Question ID:- 42

Which of the following pairs is not correctly matched ?

List- 1 List- 2
|Schedules under the constitution of Indial [Subject]
(1)  First Schedule : States and Union Territories
(2) Fourth Schedule : Allocation of seats in the Council of States
(3) Eighth Schedule : Languages
(4) Tenth Schedule : Provisions related to Panchayats
frefafaa g § @ SF-a1 gifea 76 § 2
qell-1 =11
( ¥ o wfaum ¥ fau gu srafa ) ( ferear)
(1) vem s T SR FEINEd W
(2) = g © o TR 99T H HIE H AR
(3) ewedl syl ;W
(4) THeEl ST Ul H Hefyd gEee
Options:-

«1, Option ID :- 165,
« 2, Option ID :- 166,
« 3, Option ID :- 167,

= 4, Option ID :- 168,
Answer Given:- 4, Option ID : -168

Question ID:- 43
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Justice M.K. Mukherjee Commission of Inquiry was appointed by the Government of India to
inquire into which of the following incidents ?

(1) Assassination of Mahatma Gandhi

(2) Assassination of Indira Gandhi
(3) Assassination of Rajeev Gandhi
(4) Disappearance of Subhash Chandra Bose

frefafaa 8 4 forg we1 #1 59 3 fau IR 95R F 510 =g wa.3F, gas i oan i i
T ot ?

(1) WETeT e =1 gen

(2) fee et i g

(3)  Trsfg T S B

(4) o9 == 99 w1 fagw 2
Options:-

«1, Option ID :- 169,
« 2, Option ID :- 170,
« 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 3, Option ID : -171

Question ID:- 44

Who was the founder of Independent Labour Party in India ?

(1) M.N. Roy

(2) S.C. Bose

(3) B.R. Ambedkar

(4) E.M.S. Namboodiripad

frefafed 6 | foei vra § ‘5= oTeR el &t Tra whi off 7

Options:-

«1, Option ID :- 173,
= 2, Option ID :- 174,
« 3, Option ID :- 175,

« 4, Option ID :- 176,
Answer Given:- 1, Option ID : -173

Question ID:- 45
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Match the following :
List - I
(Newspaper)
(A) Bombay Chronicle
(B) Amrita Bazar Patrika
( New India
(D) Mook Nayak

H &

(a) (B) (O (D)

() (@ @) @ (L
2) (O (WL av) (i
G ) @O a@ @)
4) I av) an @
frefartaa = gafaa = -
el -1
( EHT=IT U )
(A) @ wIHA
(B) ST SATSIR qiFeht
(C) = Efem
(D) o 9

(A) (B) (O (D)

(1 @M (@) @ (@
2 @O ) Iv) a
3 @) @O @@ m
(4) (I @v) @) (@
Options:-

«1, Option ID :- 177,
= 2, Option ID :- 178,
« 3, Option ID :- 179,
« 4, Option ID :- 180,

Answer Given:- 1, Option ID : -177

(
(
(
(

Response Sheet

List - IT

(Founder)
()  Dr B.R. Ambedkar
() Feroze Shah Mehta
(IIT) Annie Besant
(IV) Motilal Ghosh

Select the correct answer using the code given below :

-1

( HERATIR )
) 2L L3R STeEH
) RS e T
1) Tl 952
V) Hidiere =y

=i fau gu =2 =1 YA X el 3 1 T B

Question ID:- 46
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Which of the following is the correct chronological order of ruling dynestics with the earliest ruling
dynasty placed at first in the sequence ?

(1) The Lodi, the Sayyid, the Tuglaq
(2) The Sayyid, the Tuglaq, the Lodi
(3) The Tuglaq, the Lodi, the Sayyid
(4) The Tuglaq, the Sayyid, the Lodi

Frefafed 5 | -9 3 59 6 Hel HrgsR 8, s Tel ggcl ITHE 59 %l hH H 9ae W@ T8 2

(2) TG, U, AEl 99

(3) ek, WGl 59, HIR

(4) o, HIE, ARl a9
Options:-

«1, Option ID :- 181,
« 2, Option ID :- 182,
« 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 2, Option ID : -182

Question ID:- 47

Who of the following, coined the terms, “The great and little” traditions’ ?
(1) Robert Redfield
(2) Redcliffe Brown
(3) A.G. Noorani
(4)

4) Rabindranath Tagore

frefafea # | forem ' mem iR oy e’ orsd] &t T & 2

(1) = Efhee

(2) (Sf® oA

(3) S TE

(4) &z 1Y SR
Options:-

«1, Option ID :- 185,
« 2, Option ID :- 186,
« 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 1, Option ID : -185

Question ID:- 48
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What is Asthenosphere ?

(1) Itis a newly discovered sphere, situated above atmosphere.
(2) Itis alower part of the atmosphere.

(3) Itis the upper portion of the Earth’s mantle.

(4)

4) Itis found in the biosphere.

geeaHed 1 € ?

(1) % T 7201 Erell 3371 & &, S argHed o S e 71
(2) I8 argHed o fraen feemn 2

(3) Fe gt * et 1 U 9T ¥ |

(4) FBSEaHSA H Y& STl

Options:-

«1, Option ID :- 189,
« 2, Option ID :- 190,
« 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

Question ID:- 49

Which of the following statement/s is/are not correct ?
(A) Laterite soil is commonly found in Karnataka.

(B) Laterite soils are rich in organic matter, nitrogen and phosphate.

Select the correct answer using the code given below :
(1) (A) only

(2 (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

frefafea wul § 9 #0991 98 76 % 2

(A) weUse gt Tmra: HAtes | % St €1

(B) wiewge et H el gae, TREem oiX Hrehe wi ggea et B
= fu g S 1 WM ek el I 1 =FIT H :

(1) et (A)

(2) a9 (B)

(3) (A) &R (B) €HI

(4)  (A) ¥ (B) H | i T
Options:-

«1, Option ID :- 193,
« 2, Option ID :- 194,
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« 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 1, Option ID : -193

Question ID:- 50

Which of the following banks has been authorized on behalf of the Government of India to issue
Sovereign Gold Bond Scheme 2022-23 ?

(1) Punjab National Bank
(2) State Bank of India
(3) Union Bank of India
(4) Reserve Bank of India

frefafed 7 § forg o = YR TR i 3R 9 ' G Ties di-s hie' 2022-23 Sl # o+ fag sifusd
fEn T g ?

(1) GsTe "9 deh

(2) HRAE 2 H%

(3) IFE S srE e

(4) YRaE e 9%
Options:-

«1, Option ID :- 197,
« 2, Option ID :- 198,
« 3, Option ID :- 199,

« 4, Option ID :- 200,
Answer Given:- 2, Option ID : -198

Question ID:- 51

Which of the following statement/s is/are correct about the Electoral Bond Scheme of Government
of India ?

(A) The Electoral Bond is a bearer instrument in the nature of a Promissory Note.

(B) Electoral Bonds can be purchased for any value in multiples of Rs. 10,000, Rs. 100,000 and
Rs. 10,000,00 only.

Select the correct answer using the code given below :
(1) (A)only

(2) (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)
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IR TR & ' goiRnd sie @hiH' % favg § fr=fafea § 9 $F-91 #7979 981 8 2

(A) TR di-g TH g99-T9 i e Uh HH 36 ¢ |

(B) SoiwRNe di-€ had 10,000 ®9F, 1,00,000 €9 2R 10,000,00 €9 & ekl H fHE off 69 &+

o e < weRar 2
9 feu U 2 1 GHNT FEF WE ST R I B
(1) = (A)
(2) 9 (B)
(3) (A) 3R (B) 3
4) (A) 3R (B) ¥ § #rE
Options:-

=1, Option ID :- 201,
« 2, Option ID :- 202,
« 3, Option ID :- 203,

= 4, Option ID :- 204,
Answer Given:- 2, Option ID : -202

Question ID:- 52

Which of the following statement /s is / are correctabout CSRI (Cognitive Science Research Initiative),
a Government of India Programme ?

(A) It was initiated during 10th Five Year Plan.

(B) One of its aims is to promote research in the field of nature and origins of mental disorder.
Select the correct answer using the code given below :

(1) (A) only

(2)  (B) only

(3) Both (A) and (B)

(4) Neither (A) and (B)

qRA TR %1 hAsHH I UH.ARE. (CSRI) (Fifufes gy fw= stHfvEfea) & 9 ¥ fFefafad § 9
HFT-T1 HY HE B2

(A) THH! Eed 10 of J=andy e F <R g ot
(B) T U 32vd AT fomrl =t wafa oiv Seufa & fawg § v =1 sigren 31 2
i< fau T e 1 YHART Feh el ST H FIT h

(1) hae (A)

(2) e ®)

(3) (A) ¥R (B) THl

(4) (A) iR (B) H F =g e
Options:-

«1, Option ID :- 205,
« 2, Option ID :- 206,
« 3, Option ID :- 207,
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« 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53

National Science Day in India is celebrated on which of the following dates ?
(1) 3*d March

(2) 215t January

(3) 13™ December

(4) 28% February

fr=fafaa § 9 form fafy 1 g d oy foam foow & =9 o 93w s & 7

(1) 34

(2) 21 SHEd

(3) 13 feqm=r

(4) 28 ®Ed
Options:-

«1, Option ID :- 209,
« 2, Option ID :- 210,
=« 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 4, Option ID : -212

Question ID:- 54

Which of the following Olympic events under List - I is not correctly matched with countries
under List - II ?

List-I List - I1
(Olympic events) (Countries)
(1) Olympic 2026 Italy
(2) Olympic 2028 USA
(3) Olympic 2032 UK
(4) Olympic 2024 France

Geit-1 % weq feu Tu frafafea § § FA-1 el S get-11 % qed fou 3 9 9@ g 768 €2
qell-1 Tei-11

( 3R e ) (d9r)
(1) ireifus 2026 ECll
(2) e 2028 HIE UL SR
(3) iU 2032 ERECEREEL
(4) Sireites 2024 e
Options:-

https://kvsexam04march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204223... 25/60



https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/17/23, 2:11 PM Response Sheet

«1, Option ID :- 213,
= 2, Option ID :- 214,
« 3, Option ID :- 215,

« 4, Option ID :- 216,
Answer Given:- 1, Option ID : -213

Question ID:- 55

Match players under List -1 with sports given under List -2 :

List -1 List - 2
(A) Sreeja Akula () Badminton
(B) Pranoy H.S. (I) Chess
(C) Bhakti Pradip Kulkarni (IIT) Weight lifting
(D) Vikas Thakur (IV) Table Tennis

Select the correct answer using the code given below :

(A) (B) (O (D)

1 M @O @) ({1v)
(2) Iv) @O @
3) Iv) @ (@
@) @O @) @ ()

Get-1 % 3F=atia faanted 1 ge=i-2 & F=ria feu 7u =@ 9 fFam |
-1 -2

(A) T erpa () s
(B) ¥4 TI.UH () wwEs

(C) i Walq FHerehuli (L) TR
(D) fam 2@ (IV) 2o 29

(A) (B) (©) (D)

(n am @ [{n Iv)
2 av) @ @@ ()
3) (aOv) (I @
4 @O @v) @ (m
Options:-

=1, Option ID :- 217,
« 2, Option ID :- 218,
« 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 4, Option ID : -220

Question ID:- 56
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Who has been conferred upon the UNESCO Peace Prize for the year 2022 ?
(1) Angela Merkel

(2) Maria Ressa

(3) World Food Programme

(4) D.A. Muratov

oY 2022 %k AU F=eh] wifd GEepR 9 8 gemfae foran mn @ 2
(1) TS Hehed

(2) HIRET &=

(3) fova @ e

(4) ST gEE
Options:-

«1, Option ID :- 221,
« 2, Option ID :- 222,
« 3, Option ID :- 223,

« 4, Option ID :- 224,
Answer Given:- 1, Option ID : -221

Question ID:- 57
India launched its National Action Plan on Climate Change (NAPCC) in 2008. Which of the
following is not included under NAPCC ?
(1) National Mission for Sustainable Agriculture
(2) National Mission on Sustainable Habitat
(3) National Solar Mission
(4) National Mission for Clean Fuel

HRA H 2008 H ‘Serary uRadd W U= FE Fe’ (NAPCC) I i1 | faefafad § 9 &9 NAPCC &%
Ted nfhel 72 @ ?
(1) U Fad F e
(2) UL Had e f{eE
(3) T 9 e
(4) T W A faee
Options:-
«1, Option ID :- 225,
= 2, Option ID :- 226,
« 3, Option ID :- 227,

« 4, Option ID :- 228,
Answer Given:- 2, Option ID : -226

Question ID:- 58
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Gary Bencheghib has been conferred upon the Ramon Magsaysay Award-2022 for :
(1) Generating awareness about mental health

(2) Bighting against sexual abuse of children
(3) Fighting against marine plastic pollution
(4) Advocating democracy in Iran

T Seaedte o1 T WY ERR- 2022 9 fRg SR § gemtaa fwe e g2
(1) THGE @R % ai § Sl 9e1 #39 # fau

(2) o= % A9 i F fowg oeE @ied & fag

(3) WA e WG H g % ferg

(4) SUTH Arkas &l Fehlard i & fag

Options:-

«1, Option ID :- 229,
« 2, Option ID :- 230,
« 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 1, Option ID : -229

Question ID:- 59

Which of the following is not correct about the Agneepath Scheme of the Government of India ?
(1) Selected candidates will be appointed on contract basis

(2) This scheme is not open to women

(3) up to 30% of each batch will be enrolled as regular cadre

(4)

4)  Agneevirs will receive an annual package of Rs 4.76 lakh in the first year

TRA FEHR i Afrae Fe F o 8 fFefafeg § S a8 78 22
(1) =AM IFEaR] &l ATaY & UR W g fwa smom)

(2) 9% Ars Higensd o foe & 2
(3) WEHH 9F % 30% qh 1 Frafd FeX F w9 9wt e s
(4) AR I gUH 99 § Rs. 4.76 @RI 1 MGk Uehsl YT 20T |

Options:-

«1, Option ID :- 233,
« 2, Option ID :- 234,
« 3, Option ID :- 235,

= 4, Option ID :- 236,
Answer Given:- 4, Option ID : -236

Question ID:- 60
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Which of the following is the newest republic of the world ?
(1) South Sudan

(2) Barbados
(3) Kiribati
(4) Moldova

frfafea § 9 =H-a1 favg = gag 991 76T § 2

(1) =39 g2
(2) @EiE™
(3) Teftamt
(4) iR

Options:-

«1, Option ID :- 237,
« 2, Option ID :- 238,
« 3, Option ID :- 239,

« 4, Option ID :- 240,
Answer Given:- 1, Option ID : -237

Subject : LR_Q61-Q80_JA04MARSH1

Question ID:- 61

In the following letter - number series, some of the terms are missing, which are given in that order
as one of the alternatives below it. Select the correct alternative.

V2dR____gNW4__ _ 10mF6 __ _
1) 16, K, p

(2 18] P

3 18jp

(49 18,jJp

Treferdrd s1ar - F= 4o |, 2 U2 T B, S A= R v fasey § 9t w9 | feu u ¥ | wél faew
1 A P ;

V2dR____gNl4_ = 10mFe __
(1) 165K p

(2) 18, ], P

3 18 p

(4 18j]p
Options:-

«1, Option ID :- 241,
= 2, Option ID :- 242,
« 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242
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Question ID:- 62

Certain pairs of words are given, out of which the words in all pairs except one bear a common
relationship. Choose the odd pair :

(1) Library : Books
(2) Class : Students
(3) Zoo : Animals
(4)

4)  Aeroplane : Hangar

vI&a| o s g7 fou T g, fod 9 it grdi |, foer w& &, U=l & 5 U 9HE 96y 2 | faue g w6
=FIA HIfAW .

Options:-

«1, Option ID :- 245,
= 2, Option ID :- 246,
= 3, Option ID :- 247,

« 4, Option ID :- 248,
Answer Given:- 4, Option ID : -248

Question ID:- 63

‘N’ is the father of ‘R, "B’ is the daughter of ‘M" and ‘M"is the son of ‘N, If’S’ is the son of ‘M’ and
‘C’ is the brother of ‘S’ then :

(1) B is the sister of C
(2) N is the uncle of M
(3) Sis the father of B
(4) Ris the father of M

‘N o 8 RSB PR R OM W S ROM RN AR TR M @ SR C YR §YS 6, T

(1) Ba&EA SCHI
(2) N 3%a &M #
3) sfmmeB=
4) RfmEM=
Options:-

«1, Option ID :- 249,
« 2, Option ID :- 250,
« 3, Option ID :- 251,
= 4, Option ID :- 252,
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Answer Given:- 1, Option ID : -249

Question ID:- 64

‘Player’ is related to ‘Coach’ in the same way as ‘Pupil” is related to __ 2 .

(1)  School

(2) Book

(3) Academy
(4) Teacher

“faeney, ‘Hrr | 39 YhR Fatud & 59 ey gefm g2 9

(1) foemes
(2) T
(3) STeRTEH!
(4) Toreres
Options:-

=1, Option ID :- 253,
« 2, Option ID :- 254,
« 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 4, Option ID : -256

Question ID:- 65

Find the wrong term from the fo]low'mg numbers.
352, 429, 561, 396, 427, 682, 781

(1) 396

(2) 682

(3) 427

(4) 561

Frefafed Hensti | 7o 18 16 Hifs)
352, 429, 561, 396, 427, 682, 781
(1) 396

(2) 682

(3) 427

(4) 561
Options:-

«1, Option ID :- 257,
= 2, Option ID :- 258,
« 3, Option ID :- 259,

« 4, Option ID :- 260,
Answer Given:- 1, Option ID : -257
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Question ID:- 66

In a certain code language “you are beautiful’ is written as ‘786, ‘beautiful people are nice” is
written as ‘4796" and ‘they are nice’ is written as ‘962" then how will “they’ be written in this code
language ?

(1) 4

2) 6
3) 9
4 2

et wer Fafvad e / dehd! W o ‘you are beautiful’ %l 786’ feT@l T B, ‘beautiful people are nice’
%1 4796’ feran e € 3iT “they are nice” %1 962’ o 721 €, 9@ ‘they’ 1l SH1 2 s H FH feran
S ?

(1) 4
(2) 6
3) 9
(4) 2
Options:-

«1, Option ID :- 261,
« 2, Option ID :- 262,
« 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 4, Option ID : -264

Question ID:- 67

Find the word which can not be formed by using the letters of the given word.
INCARNATION

(1) RAINCOAT

(2) INACTION
(3) CONTAIN
(4) REACTION

3 I1eE &l A hiterd 8 = feu T wree o e/ 1 SUANT T aEn A1 S Heh |
INCARNATION
(1) RAINCOAT

(2) INACTION

(3) CONTAIN

(4) REACTION
Options:-

«1, Option ID :- 265,
= 2, Option ID :- 266,
« 3, Option ID :- 267,
« 4, Option ID :- 268,
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Answer Given:- 4, Option ID : -268

Question ID:- 68

Two numbers have a certain relationship to each other. Select the correct option which has the
same relationship as the original pair of numbers.

i L e (.
(1) 4

(2) 40

(3) 3

(4) 5

3 Hemsl H Ay § we ffvEd Hay ) 39 wal fased @ 9o ity e ded §en | g9 9 &
HA &, HEH E

13 4l yslos. 2 .
(1) 4

(2) 40

(3) 3

(4)
Options:-

«1, Option ID :- 269,
= 2, Option ID :- 270,
« 3, Option ID :- 271,

=« 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69

Suppose the first and the second letters of the English alphabet changed places, also the third and
fourth, the fifth and the sixth and so on. In the new alphabet which will be the twelveth from the

left ?

(1) K
(2) O
3) P
(4 N

T eAifer for sl auiame % Tedt o gt SRl 3 wH aee, T & IR iR Hi9 3, uisg e ee d 8k
T YRR T | 9 gotaren H, §7 Y SREs] S8R i 91 ?

(1) K
(2) O
(&) P
(49 N
Options:-

«1, Option ID :- 273,
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« 2, Option ID :- 274,
« 3, Option ID :- 275,

« 4, Option ID :- 276,
Answer Given:- 1, Option ID : -273

Response Sheet

Question ID:- 70

relationship with the third term.
BARGE : GEUIF: : WOULD : _2 .

(1) ZTXNE
(2) BSXNE
(3) BSXME
(4) BSXNF

Hee &l |

BARGE : GEUIF : : WOULD : _ 7
(1) ZTXNE

(2) BSXNE

(3) BSXME

(4) BSXNF

Options:-

«1, Option ID :- 277,
« 2, Option ID :- 278,
« 3, Option ID :- 279,

=« 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

The first two terms have a certain relationship.

gl & el § U Tafvea g9y % 1 59 E fasey & =9 Fife foge e ue % w1y 39 U %1 99H

Select the correct option which has the similar

Question ID:- 71

Find the odd one out:

(1) Cart

(2) Sledge

(3) Raft

(4) Chariot

Frefafead 8§ 9 foom m wifsg
(1) el

(2) =

(3 =

(4) ™
Options:-
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«1, Option ID :- 281,
= 2, Option ID :- 282,
« 3, Option ID :- 283,

« 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

Choose the correct option to replace question mark (?) in the following number series :
0,6,24,60, 2 ,210, 336

(1) 108
(2) 168
(3) 134
(4) 120

Frefafas den vt 1§ gem fo= (2) 1 wfaeenfia &3 & 981 fosren &1 =97 #ifT .
0,6,24,60, 2 210,336

(1) 108
(2) 168
(3) 134
(4) 120
Options:-

«1, Option ID :- 285,
« 2, Option ID :- 286,
« 3, Option ID :- 287,

= 4, Option ID :- 288,
Answer Given:- 3, Option ID : -287

Question ID:- 73

How many meaningful words can be formed by using the first, second, fourth and fifth letters of
the word ‘STRIPED’ using each letter only once in each word ?

(1) Two
(2) One
(3) Three
(4) Four

915 ‘STRIPED’ % Wgel, T8, A 3R Wrad s1eri ol STAN ik UH foraa s7efqul vreg oA < 9 %,
o uede 91sa § Ycieh 18R 1 SUART hdd Uk B 9R foha T @

E2 D
134
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Options:-

«1, Option ID :- 289,

= 2, Option ID :- 290,

=« 3, Option ID :- 291,

« 4, Option ID :- 292,
Answer Given:- 1, Option ID : -289

Question ID:- 74

‘X’ is the father of "Y’, “Z" is the brother of “X’, ‘R’ is the sister of “Y’. If ‘S is the father of “X’, then
what is the relationship between ‘R’ and ‘'Z’ ?

(1) Husband and Wife
(2) Brother and Sister
(3) Niece and Uncle
(4)

4)  Daughter and Father

X MY &, Z ME X F, ‘R &1 2°Y ®I 1 afe's faan &X &1, a9 ‘R #R‘Z & o= =91 Hae & 2

(1) ufa iR o=t #=

(2) TS IR ST

(3) eIl / WISTT ST ==/ HHT
(4) I SR far =1

Options:-

«1, Option ID :- 293,
« 2, Option ID :- 294,
= 3, Option ID :- 295,

« 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75

In the fo]iowing letter series some of the terms are missing, which are given in that order as one of
the alternatives below it. Select the correct alternative.

aab_aa_aa baaab_

(1) baba
(2) aabb
(3) abba
(4) abaa
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Freferdta s1ar goft #, ¢ s1a) e €, S A R e faeen § o5 e A faw e €)
wEl fasrey =1 997 Fifeu

aab_aa_aa _baaab_

(1) baba

(2) aabb

(3 abba
(4) abaa

Options:-

«1, Option ID :- 297,
« 2, Option ID :- 298,
« 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 4, Option ID : -300

Question ID:- 76

In a code language ‘NET” is written as 13-22-7 and ‘RAIN’ is written as 9-26-18-13, then how will
‘'SEASON’ be written in this code language ?

(1) 8-22-26-8-11-12
(2) 8-22-26-8-11-13
(3) 8-22-26-8-12-13
(4 13-12-8-13-26-22

fordt =52 / Hepet s § “NET %1 13-22-7 foran man § @i ‘RAIN' il 9-26-18-13 foran T €, 99 36t &2
qT1 H ‘SEASON’ ! fohd gepr foran s 2

(1) 8-22-26-8-11-12

(2) 8-22-26-8-11-13

(3) 18-22-96-8-12-13

(4) 13-12-8-13-26-22

Options:-

«1, Option ID :- 301,
= 2, Option ID :- 302,
« 3, Option ID :- 303,

« 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77
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Select the combination of numbers so that the letters arranged accordingly will form a meaningful
word.

CAMDYCEOR
1234567809
(1) 4,7,380962,5,1
2 1,9,26873,4,5
3) 4,7,386,921,5
4) 4,7,3,86,91,2,5

Hensd & T4 9 &1 997 frfou 9 seR siafl ) Haftgd w0 W T A20q0l e a3 |
CAMDYCEOR
123456789

1) 4,7,3,809,6,2,5,1

2) 1,9,2,68,7,3,4,5

3) 4,7,3,86,921,5

4) 4,7,3,86,91,2,5

Options:-

«1, Option ID :- 305,
= 2, Option ID :- 306,
« 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 3, Option ID : -307

Question ID:- 78

Some groups of letters are given, all of which except one, share a common relationship while one
is different. Select the odd one:

(1) MpsR
(2) SuwV
(3) Dgjl

(4) KngP

= % % 99 feu mu ¥ fod |efi, faam u %, e gum dey aen w3 § sEfEs v e E s e
Wwwaﬂﬁq:

(1) MpsR
(2) SuwV
(3) Dgil
(4) KngP
Options:-

«1, Option ID :- 309,
« 2, Option ID :- 310,
« 3, Option ID :- 311,
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« 4, Option ID :- 312,
Answer Given:- 2, Option ID : -310

Question ID:- 79

If it is given 3 * 7=121, 6 * § =148, then what will be 4 * 9=7?

(1) 94
(2) 128
(3) 113
(4) 136

Ifg 3 % 7=121, 6 * 8 = 148 T&&1 =1 §, 99 4 * 9 =T BAT :

(1) 94
(2) 128
(3) 113
(4) 136
Options:-

«1, Option ID :- 313,
= 2, Option ID :- 314,
« 3, Option ID :- 315,

=« 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316

Question ID:- 80

In the following question two words have a certain relationship to each other. Select the correct
option which has the same relationship as the original pair of words :

Caterpillar : Butterfly : : Tadpol: 2 .

(1) Fish
(2) Stag
(3) Frog
(4) Insect

Frefafed vea 9, 9 =t # s § v Ffeea g6y €139 98 fawey o1 =92 wifen 59 w=di & 9a
T % HHM B HaH Bl

Options:-
«1, Option ID :- 317,
= 2, Option ID :- 318,
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« 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319

Subject : CL_Q81-Q100_JA04MARSH1

Question ID:- 81

Being an electronic device, a computer system understands only electric pulses or a language of on
and off or 1 and 0, which is also called :

(1) Binary language

(2) Assembly language
(3) High level language
(4) Programming language

e Seia( ek 431 & o I T Shoged YoTe! 91 ol Fh foe[e 30 Sl & a1 &7 SR’ 3% 1 1 #R 0 i
TS | 39 9191 b1 for o721 98 & «ff ST S 2

(1) SR S

Options:-

«1, Option ID :- 321,
« 2, Option ID :- 322,
« 3, Option ID :- 323,

« 4, Option ID :- 324,
Answer Given:- 1, Option ID : -321

Question ID:- 82

Which of the following groups of devices are only input devices ?

(1) Mouse, Keyboard, Monitor, Joystick

2) Keyboard, Mouse, Printer, Light pen

(2)
(3) Joystick, Mouse, Microphone, Scanner
(4)

4 Keyboard, Mouse, Microphone, Speaker

Trefafed § 4 %M 9 35 %1 998 Fad 392 A 8 ?
(1) W39, HiErs, ", Safes

(2) HiETE, ARy, T, @Ee U

(3) SiATE, WISH, HISHHH, ThT

(4) HIETE, AIZH, HIZhIhIA, T

2

Options:-
=1, Option ID :- 325,
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« 2, Option ID :- 326,
= 3, Option ID :- 327,

« 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83

In computers, RAM stands for :

(1) Random Access Memory

(2) Random Analog Memory
(3) Random Advanced Memory
(4) Random ASCII Memory

FOH RAM (TH) =1 #0119 B €
(1) = wRy

(2 Yeu A HER

(3) {eH ugaiw HER

(4) Yeu uuEHETESTE (ASCI) FH

2

Options:-

«1, Option ID :- 329,
« 2, Option ID :- 330,
« 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 1, Option ID : -329

Question ID:- 84

The acronym DVD stands for :
(1) Dual Versatile Disc

(2) Digital Versatile Disc

(3) Data & Video Disc

(4) Dynamic Video Disc

gftgff &g DVD (EiEter) =1 0 214 82

(1) T gyesd few=h
(2) Tefsea zderEa fe=n
(3) T R difedl few
(4) TEAH®F difeal fewr
Options:-

«1, Option ID :- 333,
« 2, Option ID :- 334,
« 3, Option ID :- 335,

https://kvsexam04march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204223... 41/60



https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/17/23, 2:11 PM Response Sheet

« 4, Option ID :- 336,
Answer Given:- 2, Option ID : -334

Question ID:- 85

Which of the following is an example of an Operating System ?
(1) Microsoft Edge

(2) Microsoft Word

(3) Microsoft Access

(4) Microsoft Windows

Tr=fafea @ | +F 91 fomey 9= qone! =1 T S § 2

(1) HEhETRE TS
(2) WEHERE TS
(3) HERETE THE
(4) WEHETE fHSS

Options:-

«1, Option ID :- 337,
= 2, Option ID :- 338,
« 3, Option ID :- 339,

« 4, Option ID :- 340,
Answer Given:- 4, Option ID : -340

Question ID:- 86

Which of the following is not an example of a popular web browser ?
(1) Google Chrome

(2) McAfee Plus

(3) Microsoft Edge

(4) Mozilla Firefox

Frefafad § 9 =0 uF deiug 399 9K T8 § 2

(1) 7T s

(2) HETH wH

(3) HEHMETR TS

(4) HIFSE wRTHE
Options:-

«1, Option ID :- 341,
= 2, Option ID :- 342,
« 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 2, Option ID : -342

https://kvsexam04march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204223... 42/60



https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/17/23, 2:11 PM Response Sheet

Question ID:- 87

Which of the following application software you recommend most to analysis annual result of a
school, statistically and graphically ?

(1) Microsoft Edge

(2) Microsoft Word

(3) Microsoft Excel
(4)

4 Microsoft Power Point

e faemem & arftfs uftomg = Fifersa 3 srerdl favewm i & fau 3 399 9 fee uwlism
TR H1 ST FH i GAR < ?

(1) HIETRETR TS

(2) HEHERE g

(3) TEHETRE THA

(4) HEHMEE qE gige
Options:-

«1, Option ID :- 345,
« 2, Option ID :- 346,
« 3, Option ID :- 347,

« 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88

The most popular combination of short cut keys to copy some selected text and paste the same at
some other location in most of the MS office applications is :

(1) Alt+C and Alt+V
(2) Cwl+C and Ctrl+V
(3) Cul+V and Ctrl+C
(4) Alt+V and Alt+C

THUY TR =i AT Tl o9 H g FiEe wieke il & 3w 4 =afq fafea |l & s
e 9 Hidt = fordt o1 se § U TR o €2

(1) Alt+C and Alt+V
(2) Ctl+C and Ctrl+V
(3) Ctl+V and Ctrl+C

(4) Alt+V and Alt+C

Options:-

«1, Option ID :- 349,
= 2, Option ID :- 350,
« 3, Option ID :- 351,
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« 4, Option ID :- 352,
Answer Given:- 2, Option ID : -350

Question ID:- 89

Which of the following does not come under cyber-crime under IT Act 2000 ?
(1) Sending fake e-mail messages to get personal information

(2) Creating social networking account of other person without consent

(3) Stealing a brand new laptop from a computer store

(4) Distributing child pornography over internet

frefafas § & @ = drenfient sifefm 2000 % d8d dEeR ST 4ol § T8 o € 2
(1) it S Sem % fore wsil $9er s

(2) Tt &l s1gafa o ToeT Se1 STTell |ieTel q2dfe SRS JmH

(3) U FOPEL LR F A1 Aery gl

(4) ST W ATl G hT R

Options:-

«1, Option ID :- 353,

= 2, Option ID :- 354,

« 3, Option ID :- 355,

=« 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 90

Identify the type of network, when two branches of an organisation, stationed at different countries,
are connected together to share some important data and information ?

(1) LAN
(2) MAN
(3) PAN
(4) WAN

T T i & VTS ST 37e <9l § feord ¥ iR meeryel 2er 3R 9= % SeH-HeM * o uFh gl
q e o WEAH H S[S1 8 © | 79 "edeh Wl UEEH HifdT

(1) LAN
(2) MAN
(3) PAN
(4) WAN
Options:-

«1, Option ID :- 357,
« 2, Option ID :- 358,
« 3, Option ID :- 359,
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« 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Question ID:- 91

Identify the default extension of a document created using Microsoft Word ?

(1) .txt

(2) .docx
(3) .mwd
(4) .mwrd

(1) .txt

(2) .doex

(3) .mwd

(4 .mwrd
Options:-

«1, Option ID :- 361,
= 2, Option ID :- 362,
« 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362

Question ID:- 92

Which of the following is one of the standard file extensions of an image file ?
(1) .bmp

(2) .pdf
(3) .mp3
(4) .mov

Trfafea 5 9 & o fawey tw 99 9t (3991) $Ed &1 9HE FEA UM © 2

(1) .bmp
(2) .pdf
(3) .mp3
(4) .mob
Options:-

«1, Option ID :- 365,
« 2, Option ID :- 366,
« 3, Option ID :- 367,

= 4, Option ID :- 368,
Answer Given:- 2, Option ID : -366
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Question ID:- 93

Which of the following is an Open Source Operating System ?

(1) UNIX

(2) Windows
(3) 10S

(4) Linux

Frfafed § @ =0 v g wm (0o 9r) e g § 2

(1) I
(2) faE=
(3) SETEH
(4) fore™
Options:-

«1, Option ID :- 369,
« 2, Option ID :- 370,
« 3, Option ID :- 371,

=« 4, Option ID :- 372,
Answer Given:- 1, Option ID : -369

Question ID:- 94

Mc Affee, Norton, Quick Heal, AVG, Smart Dog, etc. are the examples of:
(1) Ant Virus

(2) Adware Virus

(3) Worm Virus

(4) Trojan Horses

HeRUHI, e, T g, e, THIE B 3G fohd & See & ¢

(1) Tt =

(2) USSR ™A

(3) dfH aEE

(4) SISHEH
Options:-

«1, Option ID :- 373,
= 2, Option ID :- 374,
« 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 1, Option ID : -373

Question ID:- 95
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Identify the type of malware we generally download onto our computer system, disguised as a
useful software, but usually take control of our computer system to damage and steal our data.

(1) Spam
(2) Trojan
(3) Worms
(4) Phishing

W HEEPR 1 UETH FL S B0 Teh SUERT SRR e o0 e § e & €, oife o8
H 80N F F1 FERE T S U SR T2 I ©

(1) #H
(2) 2eH
(3) e
(4) Terfemm
Options:-

«1, Option ID :- 377,
= 2, Option ID :- 378,
« 3, Option ID :- 379,

« 4, Option ID :- 380,
Answer Given:- 2, Option ID : -378

Question ID:- 96

In e-commerce terminology, UPI stands for :

(1) United Payments Interface

(2) Unified Payments Interface

(3) Unicode Payments Interchange
(4) Universal Payments Interchange

S IreerEe! § UPL (Jtetrs) =1 1 &1 ©
(1) TS THH T
(2) FAFEEE YHIE TR
(3) FfTehIs UHZH get=s
(4) FFEEd THeg e

Options:-

«1, Option ID :- 381,
« 2, Option ID :- 382,
« 3, Option ID :- 383,

=« 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384

Question ID:- 97
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In https, s stands for ?
(1) Secure or secured
(2) Service or services
(3) System or software
(4) Structure or structured

HTTPS (T=RIEdeg) | S (v =1 #1379 & 7
(1) TR = faerire

(2) e =1 wfawst

(3) Towem =1 Hiwaat

(4) TFR A EFE
Options:-

«1, Option ID :- 385,
« 2, Option ID :- 386,
« 3, Option ID :- 387,

= 4, Option ID :- 388,
Answer Given:- 2, Option ID : -386

Question ID:- 98

What is a Router ?

(1) An Input device

(2) A storage device

(3) An Output device

(4) A Networking device

T F &7

(1) UH e A
(2) TF HURYT A
(3) TF AT A
(4) Tk AT A
Options:-

«1, Option ID :- 389,
« 2, Option ID :- 390,
« 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 4, Option ID : -392

Question ID:- 99
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Identify the cybercrime committed with the use of cell phones, instant messaging, e-mail or social
networking sites to harass, threaten or intimidate someone.

(1) Hacking

(2) Plagiarism

(3) Cyberbullying
(4) Eavesdropping

Tt =1 GerhiA, 852 1S, -0 =1 9RTd J2afht 9Ee & e 9§ WEH &3], 99EE 91 S0 hF
T GEe 3T & 7
(1) &fF
(2) ASITGH
(3) WEeR Ifie
(4) FETEH! (TR
Options:-
=1, Option ID :- 393,
« 2, Option ID :- 394,
« 3, Option ID :- 395,

=« 4, Option ID :- 396,
Answer Given:- 3, Option ID : -395

Question ID:- 100

Identify the unsolicited and unwanted junk email sent out in bulk to an indiscriminate recipient
list generally for promotional or for survey purpose.

(1) star emails

(2) spam emails
(3) priority emails
(4) triggered emails

IR 1 9 % 3Eevd W T HHE WHehal gt ot I 90 H O T e % erenfud o sraifed $Re
1 FHEd & ?

(1) R HH

(2) FH HH

(3) MEIffe sHew

(4) forE doew
Options:-

«1, Option ID :- 397,
« 2, Option ID :- 398,
« 3, Option ID :- 399,

= 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398
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Subject : QA_Q101-Q120 _JAO4MARSH1

Question ID:- 101

The value of % of 19.25 +(6.73 +32.27) +13—2.5 is equal to

(1) 11.80

(2) 6.80

(3) 4.35

(4) 5.35

19.25 = % +(6.73+32.27)+13—2.5 &l HH B 7 :
(1) 11.80

2) 6.80

(3) 4.35

(4) 5.35
Options:-

=1, Option ID :- 401,
« 2, Option ID :- 402,
= 3, Option ID :- 403,

« 4, Option ID :- 404,
Answer Given:- 3, Option ID : -403

Question ID:- 102

The largest 3-digit number which is a multiple of 2, 3,4, 6 and 8 is :

(1) 982
(2) 984
(3) 992
(4) 996

3- 3ishg 98 Tfaerad §e, §il 2, 3, 4, 6 38 = TH U 8, 1 2

(1) 982
(2) 984
(3) 992
(4) 996

Options:-

«1, Option ID :- 405,
« 2, Option ID :- 406,
« 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- 1, Option ID : -405
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Question ID:- 103

4B —1 F= i3

a+ b+f3, then what is the value of (a—2b) ?

(1) 0
2) =1
3) 1
4) 2

afg Y3 +1 _5-243 a+by3 %, T (a—2b) FHF FNE?

B-1 7-43
(1) 0
2 -1
3) 1
(4 2
Options:-

«1, Option ID :- 409,
= 2, Option ID :- 410,
=« 3, Option ID :- 411,

« 4, Option ID :- 412,
Answer Given:- 1, Option ID : -409

Question ID:- 104

2 2
The value of 147)Y 5 Q.44)

is equal to :
1.91
(1) 0.73
(2) 1.03
(3) 1.61
(4) 1.91

2 2 5

1.91
(1) 0.73
(2) 1.03
(3) 1.61
(4 1.91
Options:-

«1, Option ID :- 413,
= 2, Option ID :- 414,
« 3, Option ID :- 415,

»« 4, Option ID :- 416,
Answer Given:- 2, Option ID : -414
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Question ID:- 105

If the 9-digit number 284x398y2 is divisible by 72, then the maximum possible value of (2x + 3y)

1) 21
2) 23
3) 25
@) 27

Ffg 9- Fiehla T 284x398y2, 72§ fawsd § @1 (2x +3y) 1 HAfershan H9a A1 € -

(1) 21
(2) 23
(3) 25
(4) 27
Options:-

=1, Option ID :- 417,
« 2, Option ID :- 418,
« 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 1, Option ID : -417

Question ID:- 106

Pipe A can fill a tank is 4 hours, while pipe B can empty it in 6 hours. If both the pipes are opened
together, then the portion of tank filled in 70 minutes will be :

G
@ =
(3) é
(4) %
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g A fordt 261 1 4 52§ 91 9ehd 8, Safe 959 B 39 ! 16 e H @rell L TR ¢ | 3fe g1 urgy
W |1y e feu s €, @ 70 faee § 39 St @ foRaen s o) s 2

W =
@ =
@ =
(4) %
Options:-

=1, Option ID :- 421,
« 2, Option ID :- 422,
=« 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 2, Option ID : -422

Question ID:- 107

The cost of lighting 200 bulbs for 6 days for 4 hours a day is ¥ 160. How many bulbs can be lighted
for 15 days for 3 hours a day in ¥ 384 ?

(1) 256
(2) 260
(3) 264
(4) 288

6 TeT 4 =2 ufa fam =1 g7 & 200 Feai 1 WEIfad 3 1 Ard 2 160 § 1 15 f&7 3 w5 ufa fa7 =t sx 4 2384
Y fore deg welftad fH =1 Ted € 2

(1) 256
(2) 260
(3) 264
(4) 288
Options:-

«1, Option ID :- 425,
= 2, Option ID :- 426,
« 3, Option ID :- 427,

« 4, Option ID :- 428,
Answer Given:- 1, Option ID : -425

Question ID:- 108
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The average of 25 observations is 18. If the average of first 12 observations is 14 and that of last 12
observations is 17, then the 13th observation is :

(1) 82
) 78
3) 76
4) 74

25 Yeruii =h1 2fred 18 &1 9fe werg 12 Jaoi o of|d 14 & Ten ifag 12 Jeoi &1 o 17 § 91 13 9 geqor
2

(1) 82
(2) 78
(3) 76
(4 74
Options:-

«1, Option ID :- 429,
« 2, Option ID :- 430,
« 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 2, Option ID : -430

Question ID:- 109

The average age of A, Band C was 27 years, 3 years ago. 1f 5 years ago, the average age of B and
C was 20 years, then present age of A is:

(1) 54 years
(2) 50 years
(3) 48 years
(4) 40 years

399 Yd; A, B 3R C ol 3id &g 27 99 off | 3afg 596 qd; B 3iR C =i 3718 31 20 94 of, 91 A &l aaq
SEEE

(1) 549
(2) 50
(3) 48 9
(4) 40 =4
Options:-

«1, Option ID :- 433,
= 2, Option ID :- 434,
« 3, Option ID :- 435,

=« 4, Option ID :- 436,
Answer Given:- 4, Option ID : -436
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Question ID:- 110

A is 25% more than B and B is 20% less than C and C is 10% more than D. Which of the following
is not true ?

(1) B is 12% less than D
(2) A is 10% more than D
(3) A=C

(4) Bis 22% less than A

A, BH25% 314 € 3R B, CH20% %5 ¢ 3R C, D ¥ 10% 31y g1 9 0 9 shiFa 9 7& 82
(1) B,DH12% %H 2

(2) A, DY 10% 3ifaw €
(3) A=C®%

(4 B ATN%FAE

2

Options:-

=1, Option ID :- 437,
« 2, Option ID :- 438,
= 3, Option ID :- 439,

« 4, Option ID :- 440,
Answer Given:- 4, Option ID : -440

Question ID:- 111

A mixture of 40 litres of milk and water contains 90% milk. How much water must be added to
this mixture so that the quantity of water in the new mixture is 20% ?

(1) 10 Litres
(2) 8 litres
(3) 5 litres
(4) 4 litres

g ST Ut 3 40 efieX fagm # gu &t | 90% )1 39 fagw § feraen ar faemn s f e fago § o =t
HE 20% @ S 2

(1) 10 @i
(2) 8 @i
(3) 5 @
(4) 4w
Options:-

«1, Option ID :- 441,
= 2, Option ID :- 442,
« 3, Option ID :- 443,

« 4, Option ID :- 444,
Answer Given:- 3, Option ID : -443
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Question ID:- 112

An article was sold at a gain of 8%. Had it been sold for ¥ 3,000 more, the gain would have been
14%. The cost price of the article was :
(1) ¥ 36,000

(2) T 45,000
(3) ¥ 50,000
(4) T 60,000

feret o] =Rl 8% o &Y TX o= 7T | Afg 39 T 3,000 e W o= ST, df A9 14% WISl 2l | 39 &%
Sha HeH 91 :
(1) T 36,000

(2) T 45,000
(3) T 50,000
4 < 60,000
Options:-

«1, Option ID :- 445,
= 2, Option ID :- 446,
= 3, Option ID :- 447,

=« 4, Option ID :- 448,
Answer Given:- 2, Option ID : -446

Question ID:- 113

On selling an article at a certain price, the gain is 10%. What will be the gain percent, if the same
article is sold at double the previous price ?

(1) 120%
2) 100%
3) 60%
(4) 20%

Rl ar%q =l Torell o OX = W 10% 19 B § | S o o e Hed 8 g Hed W oaE W Ay
yferere = g 2

(1) 120%
(2) 100%
(3) 60%
(4) 20%
Options:-

«1, Option ID :- 449,
« 2, Option ID :- 450,
« 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 4, Option ID : -452
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Question ID:- 114

Total incomes of A and B is ¥ 1,65,000 and the ratio of their incomes is 5: 6. Savings of A and B are
in the ratio 2 : 3. If the ratio of the expenditures of A and B is 13 : 15, then the difference (in )
between their expenditures is :

(1) 8000

(2) 10000
(3) 12000
(4) 15000

A 3R B &l Fie THerer 313 1,65,000 8, 3R 37eh! 311 H 5: 6 1 31990 €1 A 31R B &1 &=l § 2: 3
o ¥14fg A iR B % wHl § 13 : 15 %1 20 €, 01 39k wHl H o (TH) § -

(1) 8000
(2) 10000
(3) 12000
(4) 15000
Options:-

=1, Option ID :- 453,
« 2, Option ID :- 454,
« 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- 4, Option ID : -456

Question ID:- 115

Three numbers are is the ratio 5: 1 : 3 and the sum of their squares is 560. The difference between
the largest and smallest numbers is :

(1) 16
2 8
3) 6
(4) 4

T G 5: 13 % 27U § € qen S99 St 6 A 560 ¥ | Afismag i S Hemsd # s

(1) 16
(2) 8
(3) o
(4) 4
Options:-

=1, Option ID :- 457,
« 2, Option ID :- 458,
« 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- Not Attempted

Question ID:- 116
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A sum of ¥ 800 amounts to T 920 in 3 years at a x% p.a of simple interest. If the interest rate is
increased to (x +3)%, p.a. then the same sum will amount to in the same time as :

(1) T 992

2) T 1,056
3) T 1,112
4) T 1,182

% 800 1 Tk gAUTY TR0 =4S i forell SATS1-8T x% X 3 99 H§ T 920 & kil 8 1 A4S =S & (v +3)%
21 S, o Fet e s v o e @ s

(1) T 992
(2) ¥ 1,056
(3) T 1,112
(4) T 1,182
Options:-

=1, Option ID :- 461,
« 2, Option ID :- 462,
« 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 1, Option ID : -461

Question ID:- 117

A sum of T 640 amounts to I 832 in 2 years at a certain rate percent p.a. of simple interest. The
amount for the sum T 860 at the same rate of simple interest in 4 years will be :

(1) T 1,276
(2) % 1,284
3) % 1,376
(4) T 1,384

% 640 Ff T YURT T fass Tame =97 &1 difvs o Wi @ 2 99 4 T 832 B SNl ¢ | SHT JE
TS i LY T 860 i U 4 a8 § 2 siwt -

(1) T 1,276
(2) T 1,284
(3) T 1,376
4 3 1,384
Options:-

«1, Option ID :- 465,
= 2, Option ID :- 466,
« 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 3, Option ID : -467

Question ID:- 118
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The compound interest on a certain sum at 5% per annum (compounded annually) for 2 years is
T 6560. The simple interest on the same sum at the same rate of interest for the same time will

be :

(1) < 6,480
(2) T 6,400
(3) < 6,280
(4) T 6200

fordlt smfer w 5% anfifer (=t anfties SAIfe) =l e 9 2 94 &1 =Sehgfg =Ire T 6560 & | 381 gfer @
IHI SATS I &L H I B HHA T FIERO A4S BT
(1) T 6,480

(2) T 6,400
(3) T 6,280
(4) T 6200
Options:-

=1, Option ID :- 469,
« 2, Option ID :- 470,
« 3, Option ID :- 471,

= 4, Option ID :- 472,
Answer Given:- 1, Option ID : -469

Question ID:- 119

A 320 m long train takes 80 seconds more to cross a platform 640 m long than it takes to cross a
pole. The speed of the train (in m/second) is :

(1) 16
2 12
(3) 8
(4) 6

320 HieX Fet e el 640 Hiet dd T ©IeFM &l T8 & § Uk @9 Hl TR A | fae 70 993 9 80
Terve Afus ol €139 el & 9e (Hvasvs) § ¥

(1) 16
(2 12
3 8
(4) 6
Options:-

«1, Option ID :- 473,
= 2, Option ID :- 474,
« 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 2, Option ID : -474
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Question ID:- 120

A train running at a speed of 78 km/hour crosses a tunnel is 1 minute. If the length of the train is
700 metres, then the length of the tunnel is :

(1) 1200 m
(2) 1000 m
(3) 600 m
(4) 500 m

78 km/=21 &I WA ¥ T g UH IMEl Uk A i 1 e § uR R ot ®)1 Afe e i wen
700 HIeX &, Tt 39 27e1 i TR © ;

(1) 1200 m
(2) 1000 m
(3) 600 m
(4) 500 m
Options:-

=1, Option ID :- 477,
« 2, Option ID :- 478,
= 3, Option ID :- 479,

« 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479
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